


•

•

•

•

•

•

•



• ∼ 0.01 − 0.02
∼ 0.2

•

•

•



•

(t, ) → λ(t, ) mi, i(t)
mi, λ i(t/λ)



• G
A0 [A0] =

[m]−β[ℓ]γ[t]−γ β = 1

•

a0 = A0/G
[a0] = [ℓ]γ−3[t]−(γ−2)

• γ = 4 a0



a0 =?

a0

a0 ≈ 1.2× 10−8 cm s−2

ā0 ≡ 2πa0 ≈ cH0 ≈ c(Λ/3)1/2

ℓM ≡ c2/a0 ≈ ℓU MM ≡ c4/A0 ≈ MU

a ≪ a0 ⇒ ℓa ≡ c2/a ≫ ℓM ∼ ℓU

RS ! RHubble



•

•

•
Σ M − σ Σ

M − V

• a0



• V (r) → V∞

•

• V 4
∞ = MGa0

• V 2/R = a0

• Σ̄ ! a0/G

• σ4 ∼ MGa0

• ≈ a0/2πG

•

•











∇ · h = 4πGρh ⇒
∫ ∞

−∞
ρh dr ≈ gmax

2πG
=

gmax

a0
ΣM

ΣM ≡ a0
2πG

= 138M⊙pc
−2













∼ 10a0 − 0.1a0







•

∼ 5 % ∼ 50−70 %

•



•
a0 ∼ cH0 ∼ cΛ1/2

•

•

•

•

•


